CHM152/54 Quiz #2a 25 Pts Fall 10 Name: K%
Show work where possible rate =k rate=k[A]’ [A];=-kt+[A]ly In[A],=-kt+In[A], 1/ [A]t kt + 1/[A]0
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1. The reaction Hy(g) + I(g) =» 2HI(g) was found to have the following rate constant values:
@556 K, k=12x10"M's? and @ 666 K, k=3.8x 10> M''s

a. (6 Pts) Determine the activation energy.
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b. (6 Pts) At what temperature will the rate constant have a value of 1. 0 x 10° Mlsto
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2a. (3 Pts) Determine the rate constant for a first order reaction with a half-life of 15.5 days.
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b. (4 Pts) How long will it take for the concentration the reactant in problem 2a to reach 90% of its starting
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3. (6 Pts) A reaction that is second order in one reactant has a rate constant of 1.0 x 10 2L mol * s  at 25
°C. If the initial concentration of the reactant is 0.100 M, how long will it take for the concentratlon to

become 0.0500 M? \
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